: -+
ok T‘h-rpﬁhﬂ%tﬁfik'l

EEEE
oINS
ol sE 2%
HE
oW M_._.ﬂﬂ
B Silee
z_l a=3JadaA
R
cd
1
/e
JERE
2 i 4
B R E
S
3

< 20218t4x 3 E FAH| AZWZO|XN| el >

FA|7] HiE e

._.
ol
—

ol

ol
[ep]

=
1o

-

o

7ol

by

__Ao
<l

(3,700%))

o
o3

)

@

Chel

10
—=LOH

®| [RO] |®
=1 B (B |© O W <1 IR
ol I ) e ST D S O
o =< UR =AU <A U <A <] <D Sl L
S 2| B B 1B B e xr|=r | =r = =T | =r| =
= |Klo| T [Klo| 2T {Klo| 2r (KA KA (k4| <™ | = : .
521 violan| kio | sm| ko | aul smau] 2| 3| Ko [o1| ¥ |m ko
T o [oll) AP OR IO N O O O ST O =y [ 04| 5 [ 04| =
<7 (0] 5u[HO| o [HO] 5u |HO _u_o_u_o_”_._:_._m_u__:_._m“_:_._m_u__
K0 | ) 0] 0| 0 0| ) oy o U [
U ] B L N vy e
~ ~— (q\] o __Oﬁ I __OQUﬁ
&
K |lo|lo|lo|lo|o|lo|o|o|o|lo|lo|lo|o|o|o|o
NI = S S l=1t=1k=1t=1l=1t=1k=1k=1k=21=1k=)
=] - - Nlejelelnelelalelele
= 2 foe) foe) ~loolal|o|m|al| o] o |o]al
X < < NjO|WO|0 | —|(—|™
o <l
Ko
5 |o|lcla|a|ola|clalalalalalslalala
R EEE R EE R
L) el —1e~|elelelnelalolalael e
N HEEENNBEEbENEEEE
(o]
=T olll{ ofll | ofll| ofll | ofll| oftl | ofll| ofll| ofll| ofl| ol | ol | ofll| ofll | oMl| ol
mu Kol Kol KN ENT Bl N el N A R E ST S R R
T[S M= <T| < {<T<T|<T|<T
Hmﬁm_mﬁm_mﬁl.u T T T
| o | oo [XT|KI0| ZT | K| 2T [Klo| T
IH TI<T|<T|<T(<T|<T _ .|Ar1u|__._.._2w__._.._3w__._.._
Klo| =T |Klo| zr [Kio| zr| OV < (H|_wor| " wr| * wr
+ Q
o 2
- ol
W, x0 O o
ol ol ol < oo

stw Mol met HE & = ASLCH

033 18¢

128 ~ 20214

: 20214 033

3. SFo[A7[Zt

03.

2021.




- =5
1@;"%&%&3%!

) 2020 - 08 & AFILdF5s
RE - B 1'. g | 4 ’\' (=] http://hanilgo.hs.kr
.y TzmA &0 YWHIE 442
e - E=4 O .. - IR B063-274-2162
£l - Bt WM B063-274-2161
< 20218tAE 3EE 7|sAH] & 24H] ASHWZO[H| oHY >
3EE 7|=AH] E g4 H5F Y2 ofefet 22 XSo|H7E E = JAEE AU
A=tol| =2l FA|7| HiECE
- 38 29~3% 129: 25t AP (FAK) - 3Y 15U~19Y: 18Hd AHSY (FAlx)
- E29l: 1,2,38H4 2[8K(S4, 44 0) - g2 g4 x
& =4 25 (131): (@) =4, B4, 44 179 | (E2Y) =4, 34, A4 3Y
2std): (He) =4, 4, A4 132 | (ERY) =4, 34, M4 2d
(381): (BY) ZA, B4, M4l 229 | (E29) T4, F4], M4 4
S| 2AU4): WY ET(4,0008), WY E4/(3,5008)), WY 414/(3,7008)
E29, A2dS FY FAH|(4,0008)
1. 32 7[=sAH| & F4/H| &§F X LY
(2 ol : 2l)
|| ZH Zh2|d|(30Hel) =t
= —Z1 Al Z (—LOH
™ = = ETE™N |\ mo 340 100%) AH 0| 2N |l
=4l [ 172 (68,000) 68,000
1 o [ZA4 | 179 (59,500) 0
MA [ 172 (62,900) 62,900
st =4 | 39 (12,000 | 12,000 196,900
5o [ F4 32 (12,000) 12,000
A4 321 (12,000) 12,000
BN 1320 (52,000) 52,000 22| [ (o1 &)
) o [ =4[ 132 (45,500) 0 : 30,000
M 132 (48,100) 48,100
&4 EN 221 (8,000) 8,000 154,100 o
sy [34 221 (8,000) 8,000 (H=eAbh
244 221 (8,000) 8,000 Of AH[ (EHH)
=4l | 2220 (88,000) 88,000 : 30,0002
. o [ZA| 229 (77,000) 0
M4 2220 (81,400) 81,400
&4 EN 421 (16,000) 16,000 247,400
5o [ F4 420 (16,000) 16,000
A4 421 (16,000) 16,000
¥ DREE A ol g Zoie st AYol mEt ME = £ Aot
2.2 2 28 Ewof ME5tA A2 238 Az
3. STO[AHZIZF: 20214 033 1220 ~ 20214 033 18Y
OlXl 7iztSet nX|st SHEZUS ASWAUNM & £+ UEF #x HE=LLCL
2021. 03. 09.
= _— @) — -_—
dFstdDssnF




